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#include <stdio.h>

#include <tchar.h>

#include <iostream>

#include <cmath>

using namespace std;

#define p1
3.141592653589793238462643383279502884197
1

int n,m,e;

double Q,ratiol,ratio2,theda;

char answer;

double L(int,int);

double s(int,int,double);

double g(int,int,double);

int _tmain(int argc, _"TCHAR* argv[])

do{

cout<< i R n a.l—n#Yl
HE LR \n b.l-n P BT n Y
WP e rn @Y T @Y
= Pfifi\n A2 maE
~Mn e B

cin>>answer;

switch(answer)

{

case'a":

cout<<' %ﬁﬁ?‘“ (I n 3™V 5850
(I n 3B J%@@ (rn YY)\
cin>>n;
while(n<5)
{cout<<"n T’ [ AT SNn";
cout<<' %ﬁ’i} (I-n3@d
HHD (- n @Yy F‘%ﬂ@\f m) (- n @70
#=)\n'";
cin>>n;
jein>>e;
while(e>(n/2))

{

22

cout<<"m 7 Fl KT

n/2\n ﬁ%ﬁﬁ"ﬁi“ m\n";
cin>>e;
]
cin>>Q;while(Q<0)
{

=

cout<<"iZ=~ T f' KL ET
Brl\n %ﬁﬁ‘ T ER\n"
cin>>e; )
cout<<" [—"<< n<< @Y
”<<e<<"%ﬁu+ﬁ A "<<Q*L(e,n)<<"\n'"
break,
case'b”:
cout<<"ﬁ%ﬁ? P (3B BN
(In L%ﬂy/f;‘*ﬁﬁg’!@@ (I~ n 3% JI/ Ry
cin>>n;while(n<5)
{cout<<"n " JHT SNn";
cout<<' fﬂ? (I-n#™r
D (0 n 2 JE@D (I-n ™08
=~):\n";
cin>>n;
Jein>>e;while(e>(n/2))
{
cout<<"m ' T

n/2\n ﬁ%ﬁ“ m\n";

cin>>e;
}ein>>Q;while(Q<0)
{
cout<<"i#= T ' KL ET
E‘(ﬂ.\n %ﬁ? b w\n
cin>>e; }

n—on

cout<<"~"<< n <<"3&# p Ji%:'%
:"<<L(e,n)-L(e-1,n)/cos(pi/n)<<"\n";
break;
case’c"cout<<"%b§§§?‘ (~n
B0 (F[# 1 pm 3270 p) (1 387 3
=)\n'";

rll

JM/J/1 S



cin>>n;
while(n<3)
{cout<<"n TR /[ A 3N\n";
cout<<"ﬁ%ﬁi3i P n(C-n i
)\n'";
cin>>n;
Jein>>e;
while(e<0)
{
cout<<"p T H’ELEI
Bt gy © pl’s
cin>>e;
tein>>Q;while(Q<0)
{
cout<<"ig = T ' KL ET
Bel\n %ﬁﬁﬁy‘ B=\n'";
cin>>e; }
cout<<"T"<< n<<" @B |4 -
"<<e<<" YU R <<q(n,e,Q)<<"\n";
break;
case'd":
cout<<' %ﬁ? (I-n#™r
EEHO (P m By m) (- M08
~)\n";
cin>>n;
while(n<3)
{cout<<"n T’ [ AT 3N\n";
cout<<"ﬁ%ﬁﬂaﬁ"‘ n(i—n &
):\n";
cin>>n;
}ein>>e;while(e<0)
{

cout<<"p ' KL EI

n

Bri\n ﬁ%‘p’ﬂ??“ p\n'";
cin>>e;
tein>>Q; while(Q<0)

{

t—‘/\

cout<<"@ = T i’ bl

f
Bt R R
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cin>>e; }
cout<<"I—"<< n<<" @Y [ H 1
"<<e<<" PP R <<s(n,e,Q)<<"\n"

break;

case'e":

break;
};
Jwhile(answer!='e");
exit(0);
return 0;

}
double L(int a, int b)

{
ratiol=0;
double x=1;
theda = p1/(double)b;
for(int k=0;k<=a;k++){
x=1;
for(int 1=0;1<k;1++)
{x*=cos(theda); }
ratiol+=x*cos((double)(a-k)*theda);
}
return ratiol;
}
double s(int e,int t,double ¢)
{
int 1=0;
forGi<(t/e);1++);
theda=pi/(double)t;
ratio2 =
2*¥(L(G-1),t)/sin(2*pi/e)) *sin((2*pi/e)-(2*pi/t)-(1-1
)*theda)+1;
return c/ratio2;
}
double g(int a,int b,double c)
{
double p=pi/(double)a;
double u=cos(p);
double r=((L((b-2),(b*a)))+cos(p));
return c*u/r;
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#include <stdio.h>
#include <tchar.h>
#include <iostream>
#include <cmath>
using namespace std;
#define p1
3.141592653589793238462643383279502884197
1
int n,m,a,b,c,d;
double Q,ratiol,theda,alpha,beta,delta,ratio2;
char answer;
double L(int,int);
double P(int,int,int,int,int,int);
int _tmain(int argc, _"TCHAR* argv[])
{

do

{
cout<<"Input n:\n";
cin>>n;
cout<<"Input s:\n";
cin>>m;
cout<<"Input a:\n";
cin>>a;
cout<<"Input b:\n";
cin>>b;
cout<<"Input c:\n";
cin>>c;
cout<<"Input d:\n";
cin>>d;
if(a>(n/2))
{a=n-a-2*c;}
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if(b>(n/2))
{b=m-4-b-2*d;}
cout<<"ratio = ";
cout<<P(n,m,a,b,c,d);
cout<<"\n" <<"Again?\n";

CIN>>answer;

}

while((answer=="y")ll(answer=="Y")) ;
}
double L(int a, int b)
{

ratiol=1;

double x=1;

theda = p1/(double)b;
for(int k=1;k<=a;k++)
ratiol

=ratiol *cos(theda)-+cos((k)*theda);

return ratiol;
}
double P(int n,int m,int a,int b,int ¢,int d)
{ alpha=p1/n;beta=pi/m;delta=(2*c+a)*alpha-(b+d
+2)*beta;

ratio2

=sin(2*c*alpha)*(L(a,n)-2*cos(a*alpha))+2*L(c,n
)*sin(c*alpha)*cos(a*alpha);

ratio2=rat102/(L(b,m)*sin(2*c*alpha)+2*cos(a*al
pha)*L(d,m)*sin(delta));
return ratio?;
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#include <stdio.h>

#include <tchar.h>

#include <iostream>

#include <cmath>

using namespace std;

#define p1
3.141592653589793238462643383279502884197
1

int n,m,a,b,c,d,t,y,u,temp,te,cou=1;

double Q,ratiol,theda,alpha,beta,delta,ratio2,
sd ,q,W,;

bool z=true,o=true;

char answer;

double L(int,int);

double P(int,int,int,int,int,int);

int _tmain(int argc, _TCHAR* argv[])

{

for(n=5;n<=7;n++){
for(m=n+1;m<=11;m++){
for(int 1=0;1<=n;1++){
for(int j=-1;j<=m;j++){
for(c=0;c<=n;c++){
for(d=0;d<=m;d++){

vacbro~d B R O
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temp=n-1-2*c;
te= m-4-3-2*d ;

1f((>temp) & & (temp>0)& & (te>0))

{a=temp;

b=te;

}

else{a=1;b=3;}

sd=P(n,m,a,b,c,d);

q=0;w=0;z=1;
for(int s=a;s>0;s=s-2)
{g=qg+sin(s*pi/n);}
for(int s=b;s>0;5=s-2)
{w=w+sd*sin(s*pi/m);}
for(int e=b;e>0;e-=2)

{z=(z&&(a*alpha>e*beta)); }

1f(a==0){o=((b==0)lI(b==-1));}

else{o=true;}

u=(double)(L(a,n)/(2*cos((double)(a)*alpha))-sd*
L(b,m)/(2*cos((double)a*alpha)));



w=w-+(u)*sin((a)*alpha);

1If((sd>0)& & (sd<1)&&((a+2*c)<=n)&&((n-a-2*c)
>=0)&&((b+4+2*d)<=m)&&((q-w)>=0)& &(delta
>=(d*beta))&&((delta-d*beta+pi-2*beta)<=pi)&
&((p1-(2+b)*beta)<=(pi-a*alpha))&&(a*alpha>=b
*beta)&&z&&0){

nn

cout << cou <L L

nn nn nn nn

n<<" <ime< " k< << gy <<t ke <<
"<<d <<
Cou++;
cout<<"ratio = ";
cout<<sd<<"\n";}
}
}
}
}
}
}
cin>>a;
}
double L(int a, int b)
{
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ratiol=1;

double x=1;

theda = pi/(double)b;

for(int k=1;k<=a;k++)

ratiol

=ratiol *cos(theda)+cos((k)*theda);

return ratiol;
}
double P(int n,int m,int a,int b,int c,int d)
{ if(a==0){a=n-2*c;b=m-b-2*d;}
alpha=pi/n;beta=p1/m;delta=(2*c+a)*alpha-(b+d+
2)*beta;

ratio2

=sin(2*c*alpha)*(L(a,n)-2*cos(a*alpha))+2*L(c,n
)*sin(c*alpha)*cos(a*alpha);

ratio2=rat102/(L(b,m)*sin(2*c*alpha)+2*cos(a*al
pha)*L(d,m)*sin(delta));
return ratio?;
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